Efficiency vs dr

0.5

efficiency vs AR
=}
D

L
0.7
1078 1072 10*1

[ fake+duplicates vs AR |

1

0.8

0.6+

take+duplicates rate vs AR

0.4

0.2

o AL

—— DOQM_mkKFit_TT_baseline_6iter

I —e— DQM_mkFit5_TT retrainOldFiles125_v2_prelimWP_epoch4

T

1
TP min AR

[ Efficiency vs dr (track,jet) |

§0.05
00.045
=
%0.04
9.035
>
£0.03
o
j5=E).025
)
0.02
0.015
0.0
0.005

Ratio
=

1073 1072 107

AR(TP, jet)

Ratio

a
4

<

0 30 40 50 60 70 80 90 100
Pileup

| —— DOM_mkFit6_TT | retraan'IdFlIeleS v2_prelimWP_epoch4

1
track min AR

[ fake+duplicates vs AR(track, jet) |
0.8

0.7

0.6

0.5

0.4

0.3

0.2

0.1

take+duplicates rate vs AR(track, jet)

2.

Ratio
N

107 1072 10"
AR(track, jet)

R R S S S S HAS S

o [

s f

T 08

(2]

[0]

g

50.6

>S5

°

+

&) .

g 04r 5

9 L I ,+ : : :

e T[] HHrembenesia,
L ; H'Ir' """" - ST
0 30 40 50 60 70 80 90 100

0.95
Pileup



	Contents
	Page 1


